Lesson 6

Read Chapter 5

Functions,domain range, inverse



A crop dusting airplane flying a constant speed of 120mph is first
spotted 2 miles South and 1.5 miles East of the center of circular
irrigated field. The irrigated field has radius 1 mile. The plane flies
in a straight line to a point 1 mile West of the center of the
irrigated field.

Find the location A where the crop duster enters the airspace
above the field

‘3:-2-9.3(3‘ LS




When does the plane first enter the airspace above the field ?
(Assume time t=0 corresponds to when the plane is first spotted)
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How much time does the plane spend flying over the irrigated field?
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What is a function?
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Domain and Range
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Example: f(x) = x°
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Interval notation

(2, 3) means all x with 2 < x < 3
[2, 3] means all x with 2 < x <3
[2, 3) means all x with 2 < x < 3
(—o00, +00) means all x in R
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In(EXPR)requires EXPR > 0

vV EXPR requires EXPR >0

SOI\éE{)EING requires EXPR # 0




x and y intercepts
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Given y = f(x)
To find y intercept calculate £(0)
To find x intercept(s) set f(x) = 0 and solve for x
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Algebraic manipulations |
Siadd Qn expression o

Given f(x) = YL enggudape ([ + D)
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Given f(x) = v/x — 8 simplify f(@g_f(x) enough so that plugging
in h =20 is allowed
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